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False await else import pass
None break except in raise
True class finally is return
and continue for lambda try
as def from nonlocal while
assert del global not with
async elif if or yield
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Python 3.11.6 (main, Nov 2 2023, 04:39:43)
[Clang 14.0.3 (clang-1403.0.22.14.1)] on darwin

Type "help", "copyright", "credits" or "license" for more information.
>>>
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>>> I come in peace, please take me to your leader

File "<stdin>", line 1
I come in peace take me tou your leader

AAAA

: invalid syntax
>>>
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>>> print(‘Hello world!?)
Hello world!
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>>> print(¢You must be the legendary god that comes from the sky’)
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You must be the legendary god that comes from the sky
>>> print(‘We have been waiting for you for a long time’)
We have been waiting for you for a long time
>>> print(¢‘Our legend says you will be very tasty with mustard’)
Our legend says you will be very tasty with mustard
>>> print We will have a feast tonight unless you say

File "<stdin>", line 1

print ‘We will have a feast tonight unless you say

: unterminated string literal (detected at line 1)
>>>
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>>> good-bye
Traceback (most recent call last):
File "<stdin>", line 1, in <module>
: name ‘good’ is not defined
>>> if you don’t mind, I need to leave
File "<stdin>", line 1
if you don’t mind, I need to leave

a

: unterminated string literal (detected at line 1)
>>> quit()
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>>> X = 6
>>> print(x)

>>> y =X % 7
>>> print(y)
42
>>>
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. S )y JSS 4 1)) python hello.py o) Led
cat hello.py

print(¢Hello world!’)

$ python hello.py

Hello world!
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the clown ran after the car and the car ran into the tent and the tent fell
down on the clown and the car
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name = input(‘Enter file: )
handle = open(name, ‘r’)
counts = dict()

for line in handle:
words = line.split()
for word in words:
counts[word] = counts.get(word, 0) + 1

bigcount = None

bigword = None

for word, count in list(counts.items()):
if bigcount is None or count > bigcount:
bigword = word
bigcount = count

print(bigword, bigcount)
# Code: https://www.pytle.com/code3/words.py
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>>> primt ‘Hello world!’
File "<stdin>", line 1
primt ‘Hello world!’

AAAAAAAAAAAAAA

SyntaxError: invalid syntax

>>> primt (‘Hello world’)
Traceback (most recent call last):
File "<stdin>", line 1, in

NameError: name ‘primt’ is not defined. Did you mean: ‘print’?

>>> I hate you Python!
File "<stdin>", line 1
I hate you Python!
SyntaxError: invalid syntax
>>> if you come out of there, I would teach you a lesson
File "<stdin>", line 1
if you come out of there, I would teach you a lesson
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SyntaxError: invalid syntax
>>>
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>>> primt ‘Hello world!’
File "<stdin>", line 1
primt ‘Hello world!’
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: invalid syntax
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X = 43
X=x-1
print(x)
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Python
>>> print(4d)
4y
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>>> type(‘Hello, World!?)
<class ‘str’>

>>> type(17)

<class ‘int’>
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>>> type(3.2)
<class ¢‘float’>
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>>> type(¢17?)
<class ‘str’>
>>> type(¢3.27)

<class ‘str’>
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>>> print(1,000,000)
100
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>>> message = ‘And now for something completely different’
>>n = 17
>>> pi = 3.1415926535897931
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>>> print(n)

17

>>> print(pi)
3.141592653589793
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>>> type(message)
<class ‘str’>
>>> type(n)
<class ¢‘int’>
>>> type(pi)
<class ‘float’>
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>>> T6trombones = ‘big parade’
: invalid syntax
>>> more@ = 1000000
: invalid syntax
>>> class = ‘Advanced Theoretical Zymurgy’
: invalid syntax
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False await else import pass
None break except in raise
True class finally is return
and continue for lambda try

as def from nonlocal while
assert del global not with
async elif if or yield
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print(1)
xX= 2
print(x)
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20+32

hour-1
hour*60+minute
minute/60

5%%2
(5+9)*(15-7)
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>>> minute = 59
>>> minute/60
0.9833333333333333

MR e e e Se A )l 538 (e el ) usa dae 03D G 0 a6l gl

>>> minute = 59
>>> minute/60
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>>> minute = 59
>>> minute//60
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>>> 1 + 1

2
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x + 1
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>>> quotient =7 // 3
>>> print(quotient)
2



>>> remainder = 7 % 3
>>> print(remainder)
1
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>>> first = 10
>>> second = 15
>>> print(first+second)

25
>>> first = ¢100°
>>> second = ‘150’
>>> print(first + second)
100150
Migad ) 0 gt (o Qe e e ) (el ) gl sine o pa ble (el ) Las * ) gl )
>>> first = ‘Test’

>>> second = 3
>>> print(first * second)
Test Test Test
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>>> inp = input()
Some silly stuff
>>> print(inp)

Some silly stuff
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>>> pame = input(‘What is your name?\n’)
What is your name?

Chuck

>>> print(name)



Chuck
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>>> prompt = ‘What...is the airspeed velocity of an unladen swallow?\n’
>>> speed = input(prompt)

What...is the airspeed velocity of an unladen swallow?

17

>>> int(speed)

17

>>> int(speed) + 5

22
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>>> speed = input(prompt)
What...is the airspeed velocity of an unladen swallow?
What do you mean, an African or a European swallow?
>>> int(speed)
: invalid literal for int() with
base 10: ‘What do you mean, an African or a European swallow?’
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v=0>5 #assign 5 to v
oG8 83 gl S DA 50 AS Gl (5L 5 die cile Dal Jald ) cailS
v =25 #velocity in meters/second.
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35.0
b 12.50
c=a=*xb
print(c)

a

hours = 35.0

rate = 12.50

pay = hours * rate
print(pay)

x1g3z9ahd
x1lq3z9afd = 12.50

x1g3p9afd = x1q3z9ahd * x1q3z9afd
print(x1q3p9afd)
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for word in words:
print(word)
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for slice in pizza:
print(slice)
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>>> bad name = 5
invalid syntax
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>>> principal = 327.68



>>> interest = principle * rate
: name ‘principle’ is not defined
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>>> 1.0 / 2.0 * pi
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Enter your name: Chuck

Hello Chuck
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Enter Hours: 35
Enter Rate: 2.75
Pay: 96.25
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width = 17
height = 12.0
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1. width//2
2. width/2.0
3. height/3
4. 1+ 2 %5
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